
  

 

 

 

 

 

 

 
gFjp I 

01. rupahd tpilapd; fPo; NfhbLf. 
1. jpahd];Nyhfk; vf;flTs; kPJ ghlg;gl;Ls;sJ? 

1) gpuk;kh   2) rptd;   3) gps;isahu;   4) KUfd; 

2. ek];fhuj;jpd; NghJ gad;gLj;jg;gLk; ,ul;ilf;if Kj;jpiu 

1) flfhKfk;  2) rpfuk;   3) rJuk;   4) mQ;ryp 

3. ,aw;if mirTfspy; xd;W. 
1) nrb> nfhb mirT     2) kuj;ij mirj;y; 
2) eldkhly;      4) Ngid mirjy; 

4. xw;iwf;if Kj;jpiufspd; vz;zpf;if 
1) 24   2) 26    3) 28    4) 30 

5. ehl;ba gapw;rpapy; gad;gLj;Jk; cgfuzk;. 
1) taypd;   2) glq;fs;   3) jhsk;   4) jl;Lf;fop 

(5×2=10 Gs;spfs;) 
02. njhlu;GgLj;Jf. 

1) xw;iwf;if Kj;jpiu       kuk; 

2) ek];fhuk;        mQ;ryp 

3) ,ul;ilf;if Kj;jpiu      m]k;Aj`];jk; 

4) jpupgjhfk;        g+khNjtp 

5) nja;ah nja;        1tJ jl;llT  

(5×2=10 Gs;spfs;) 
03. fPwp;l;l ,lk; epug;Gf. 

1) gpusk;gk; vd;gJ xU ……………………………………………MFk;. 

2) jhuhjp vd;gJ……………………………………………….MFk;. 

3) 1tJ jl;lltpd; jhsk;…………………………….MFk;. 

4) fj;jupf;Nfhiyf; Fwpf;fg; gad;gLk; Kj;jpiu……………………………….. MFk;. 

5) kA+uk; vd;gJ xU ……………………………………….MFk;. 

(mjp> m]k;Aj `];jk;> el;rj;jpuk;> fj;juPKfk;> mG+u;t Kj;jpiu) 

(5×2=10 Gs;spfs;) 
04. RUf;fkhd tpil jUf. 

nfh/,e;Jf; fy;Y}up> nfhOk;G – 4 
Kjyhe; jtizg; guPl;ir – 2016 

 

 
juk; - 06  

Rl;nlz;:……………………………   Neuk; : 1 ½  kzp 

eldk; (gujk;) 



1) ek];fhuj;jpd; NghJ gad;gLj;Jk; ghj epiyfs; vit? 

2) jl;llT vj;jid tifg;gLk;  

3) jpahd];Nyhfj;jpy; tUk; mG+u;t Kj;jpiufs; 2 jUf. 

4) jpahd];Nyhfk; vk;nkhopapy; mike;Js;sJ? 

5) ePu; fw;w mgpeag;ghly; xd;wp;d; Kjy; tupapidf; Fwpg;gpLf. 

(5×2=10 Gs;spfs;) 
 

gFjp II 
vitNaDk; 4 tpdhf;fspw;F tpil jUf. 

 
01. m) jpahd ];Nyhfj;ij vOJf. 

M) mjd; fUj;jpid vOJf. 

,) mjd; nghUs; ghtpf;fg;gLk; Kj;jpiufs; Mfpatw;iw ml;ltizg;gLj;Jf. 

 

02. xw;iwf;if Kj;jpiufis vOJf. 

 

03. m) gujk; fw;gjhy; Vw;gLk; ed;ikfisf; Fwpg;gpLf. 

M) FU tzf;fj;jpid vOJf. 

 

04. m) ek];fhuk; nra;tjd; Nehf;fk; ahJ? 

M) ek];fhuk; nra;Ak;NghJ ghtpf;fg;gLk; Kj;jpiufs; vit? 

,) ek];fhuj;jpy; ,lk;ngWk; ,ul;ilf;if Kj;jpiu ahJ? 

 

05. ePu; fw;w mgpeag;ghly; xd;wpid vOjp ,uhfk;> jhsk; vd;gdtw;iwf; Fwpg;gpl;L tupf;fpukkhf 

vOJf. 

(15×4=60 Gs;spfs;) 

  

 

 
 

 


